< 00, > (M)

<op/p. > (70)

Ratio

<o @> (rad)
o
=
a1

o
[N

o
N

....................................
....................................

1

2 3
TPlpoT (PCA t%obeamliné[f)

< dcotl>)
o
=
a1

.......................................

.......................................

-+

1

—=#— DQM_CKF_XiMinusPU_base

—— DQM_CKF_XiMinusPU_retrainOldFiles125_v2_prelimWPM_epochl

100r

o ™
o O
[

N
o

)| EECTETTPREE SPY RERES CRPPIPPPRR SPPLRRRS
100F——veud bl vl

1

1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

RatioI

T
vy

"
T

........................................

.......................................

.......................................

0.95

2 3
! TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


